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Math 20 Quiz 7 Morning, November 17th

Please put name on front & ID on back for redistribution!

Show all of your werk. *There is a question on the back side.”*
1. Consider the function f(2,y) = 2 + y — 2y on the domain 7 which is the closed triangular
region with vertices (0,0), (0,4}, and {2,0).

(a) [3pts| Find and classify all critical poinis of f that are in 7. Evaluate [ at these points.
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(b) [Tpts| Find the absolute max and min of f{2, %) on the demain 7. It may help to draw 7.
Y Also list what points the absolute max and min occur at.
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2. {10pts totall Find the point(s) on the curve of intersection of x —y = 1 and v2 — z? = | that
are closest in distance® to the origin. Also find this distance?. Follow this outline:

(a) [2pts| What is the system of equations we have to solve for Lagrange Multipliers?
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Recall: The distance® to the origin {0,0,0) would be the function f(z,y, z) = z° + y* | 22
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(b) [4pts| Trivial Cases. How can any of the above equations read as 0 = {i7 Hint: Look at _Ib bt
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(¢) [-fipts] What soluticns do we g,f:t LD the system in {a) assuming the noazerc cases? Are there
any? What is the minimal distance, "(z,y, 2z}, among the points in (b) and (¢)?
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